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Exercise for Scattering Amplitude (F, T6)
Problem set 5, due to 12 June, 2019

1) Determine the large z—behaviour for the following amplitudes with the BCFW shifts
[n, 1), i.e.: XM=X—2\,and A\, = X\, + 221 ?

a) A,(17,2,....,(n—1)",n~) , (——)-shift
b) A,(17,27,3%...,aT) , (—+)shift

¢) A, (1t,...,(n=2)t,(n—1)",n~) , (+—)-shift
d) A,(1t,27,37,4%t ... at) | (+4)shift

2) Consider the six—gluon split—helicity NMHYV amplitude Ag(1~,27,37,41,5%,671)

For the BCFW shifts [3,4), i.e.: A3 = A3 + 22 and A\g = Mg — 2\3 determine the large z—behaviour of
the following amplitude

(1|p2 + p3l4]? 1
[23][34](56)(61) (5|p3 + p4|2] (p5 + ps + p1)?

(3|pa + ps|6]° 1 }
[12][61](34)(45) (5|ps + pal2] (ps + p1+p2)?)
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